/S a
An array is a collection of elements with same data

type Or with the same name we can store man

elements, the first or second or third etc can b;
gistinguished by using the index(subscript). The
first element's index is 0, the second elements. index
is 1, and SO on.

g.1.1 peclaring arrays

suppose we want to find the sum of 100 numbers

then we have to declare 100 variables to store the
values. It is a laborious work. Hence the need for
grray arises.
syntax : data_type array_name([size];
To store 100 numbers the array declaration is as
follows
int n[100]; By this we store 100 numbers. The index
of the first element is 0 and the index of last element
is 99.

g1.2 Memory allocation for arrays
The amount of memory requirement is directly
related to its type and size. ‘
int n[100]; It requires 2Bytes(for each
integen)™1 00=200 Bytes.
float d[100]; It requires 4Bytes(for each
float)*100=400 Bytes.

8.1.3 Array initialization
Array can be initialized in the time of declaration.
Eg. int age[4]={16,17,15,18},

38.1.4 Accessing elements of arrays
Normally loops are used to store and access

elements in an array.
Eg.

int mark[50].i;
for(i=0;i<50;i++)

{

cout<<“Enter value for mark"<<i+1,;
cin>>mark([i];

}

cout<<“The marks are given below:";
for(i=0;i<50;i++)
cout<<mark([i];

8.2 Array operations
8.2.1 Traversal- Accessing all the eleme

array is called traversal.

nts of an
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From the following which is not true for an array
83 array 6w mosnimuflsl @EWEIOHO aBOI6.

a) It is easy to represent and manipulate array vari-
able

D) Array uses a compact memory structure

¢) Readability of program will be increased

d) Array elements are dissimilar elements

X d) Array elements are dissimilar elements

Qn.
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Consider the following declaration.
6% 68s30ms3ms declaration (wavlenye. o valid

@BEMI? GReLIESITl KrElwiw declaration MO 3.
int mark (50)

Is it valid? If no give the correct declaratlon o

X It is not valid. The correct declaration is as follows.

Qn.

int mark[50]. Use square brackets instead of pa-
renthesis

3 :
Consider the following declaration.

@INY HSISIOSIES declaratuon {_(faﬁiﬂﬁﬁ}g:&
int mark[200]

The index of the last element is ===
@raimImeom element aad index «gowoer’

mwe

Qn. 4

Consider the following declaration
int mark[200]

Thé index of the first e!ement is ----
eRaom element aaf index o) mwiem.

X@o

Qn.
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Consider the following

int age[4]={15,16,17,18};

From the following which type of initialisation is this.
DO ogO ®eOvlenRas initialisation eyen,

~ a) direct assignment

b) along with variable declaration
c) multiple assignment
d) None of these7

X b) along with variable declaration

Qn.
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From the following which is used to read and dlS-
play array elements

Array olod elements «(S3ENRMOIMN MINY §E&ISIOWIE]
SMUNTE RO Dale@IGTON0.

a) loops b) if

c) switch : d) if else ladder

Xy® a) loops.




